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for (i=0; i<=NX; it++) {
for (j=0; j<=NY; j++) {
P[i][j1=0.0; U[i][j]=0.0; V[i[j]=0.0; } }
for (i=0; i<=NX; i++) {
ULINY]=1.0; }
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+ h=Ax=Ay, DT=At,D5=1/2h,D2=1/h2&T %,

for (i=1; i<NX; i++) {
for (7=1; j<NY; j++) {

U[i1[] = U]+ DT*((UGE-NGTUG- GO+ GO+
+ ULNG-11*VI][-1] - UGG+ VG+]
+ Pli-1](j] - Pli+1][)*DS - (4.0*Ui][j] - ULi][j-1]
- ULi-1][j] - Ul+1][5] - UL+ 1])*D2/Re ) 5

VIi]G] = VI + DTH(VOIG-1* VOG- - VOGPV G+
+ UL-1G]*V0-1]0] - UL G V]
+ Pli][j-1] - PI[+1D*D5 - (4.0*V[il[j] - V[i][j-1]
= VT[] - VITG] - V[ 1)*D2/Re ) 5}
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for (i=0; i<=NX; i++) {
for (j=0; j<=NY; j++) {
// Boundary on L1
if(j '=NY) { UOP=U[i][j+1]; VOP=VI[i][j+1]; }
else { UOP=1.0; VOP=0.0; }
//" Boundary on L2
if(i 1=0) { UMO=U[i-1][j]; VMO=VIi-1](j]; }
else { UMO=U[1][j]; VMO=-V[1][j]; }
//" Boundary on L3,L4
// Computation
B[i][j] = ((UP0-UMO)*(UP0-UMO) + (VOP-VOM)*(VOP-VOM))/4.0
+ (VPO - VMO)*(UOP - UOM)/2.0
- (UPO - UMO + VOP - VOM)*H/(2.0*DT); } }
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RN=0.0;
for (i=0; i<=NX; i++) {
IP=i+1; IM=i-1; // Boundary on L2, L4
ifi==NX) {IP=NX-1;} ifi==0) {IM=1; }
for (j=0; j<=NY; j++) {
JP=j+1; M=j-1; // Boundary on L1,L3
ifj==NY) {IP=NY-1;} ifj==0) {IM=1;}
R = (BL][j1+P[IIMI+PIMI[j+P[IP][j1+P[i][JP])/4.0-P[i][j] :
P[i][j]=P[i][j] + ALP*R ;
if(i==0 & j==0) { P[i][j]=0.0 ; R=0.0; } Boundary on P1
RN =RN + R*R*16.0 ;
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